Multiplicar Dos Polinomios (C)
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Simplifique cada expresion.

- (3d® — 9d*) (4d® — 6d*)

- (25% + 25%) (95 — 357)

(=2m® + 3m?)(9m® 4 4m*)

(=Tb? — 4b)(—3b + 5b)

(=8d* — 2d®)(7d® + 5d?)
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Multiplicar Dos Polinomios (C) Respuestas

[\

.

Ut

Simplifique cada expresion.

- (3d® — 9d*)(4d® — 6d*)
= 12d° — 54d" + 54d°

- (25% +25%) (95 — 357)
= 1855 + 125° — 6s*

(=2m® 4 3m?)(9m® + 4m_4)
— —18m% + 19m" + 12mS

(=70 — 4b)(—3b* + 5b)
— 2156* — 230% — 2007

- (=8d" — 2d°)(7d® + 5d”)
= —56d" — 54d° — 10d°

MatesLibres.com




